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1. All of the following foods are nutrient-dense

EXCEPT :

(A) candy

(B) vegetables

(C) fruit

(D) bread

2. Resting Metabolic Rate (RMR) represents :

(A) an isocaloric balance

(B) a positive caloric balance

(C) energy expended during all

sedentary activities

(D) energy expenditure during physical

activity

3. Total fat metabolism is greatest with :

(A) very high-intensity exercise

(B) moderate-intensity exercise

(C) high-intensity exercise

(D) low-intensty exercise

4. Weight loss will occur first in which area of

your body ?

(A) the hips

(B) in the area that you exercised

(C) the abdominal area

(D) in the site of the largest fat store

5. Weight gain is influenced by :

(A) Your total daily calorie intake

(B) Eating a large quantity of food just

before bed

(C) Your attitude or demean our while

eating

(D) Eating the majority of your daily

calories before noon

1. fuEufyf[kr lHkh [kk| inkFkZ iks"kd rRoksa ls
Hkjiwj gSa flok; blds %
(A) daSMh
(B) lfCt;ka
(C) Qy
(D) jksVh

2. foJke p;kip; nj ¼vkj,evkj½ dk
çfrfuf/kRo djrk gS %
(A) ,d len~fockgq larqyu
(B) ,d ldkjkRed dSyksjh larqyu

(C) lHkh xfrghu xfrfof/k;ksa ds nkSjku

[kpZ dh xbZ ÅtkZ

(D) 'kkjhfjd xfrfof/k ds nkSjku ÅtkZ

O;;

3. dqy olk p;kip; ds lkFk lcls cM+k gS %
(A) cgqr mPp rhozrk okyk O;k;ke
(B) e/;e&rhozrk okyk O;k;ke
(C) mPp&rhozrk okyk O;k;ke
(D) de&rhozrk okyk O;k;ke

4. otu de lcls igys vkids 'kjhj ds fdl
{ks= esa gksxk \
(A) dwYgksa
(B) ftl {ks= esa vkius O;k;ke fd;k
(C) mnj {ks=
(D) lcls cM+s olk HkaMkj dh lkbV ij

5. otu c<+uk blls çHkkfor gksrk gS %
(A) vkidk dqy nSfud dSyksjh lsou
(B) lksus ls Bhd igys cM+h ek=k esa

Hkkstu djuk
(C) Hkkstu djrs le; vkidk joS;k ;k

O;ogkj
(D) nksigj ls igys vius nSfud dSyksjh

dk vf/kdka'k fgLlk [kk jgs gSa

[P.T.O]
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6. A person with a body mass index (BMI) in

which range is classified as overweight ?

(A) 15-19.9

(B) 30-35.9

(C) 25-29.9

(D) 20-24.9

7. A person whose body weight is more than

20% above the recommended level is

categorized as :

(A) obese

(B) Slightly obese

(C) Overweight

(D) morbidly obese

8. Which of the following is the general formula

of Carbohydrates ?

(A) (C
4
H

2
O) n

(B) (C
6
H

2
O) n

(C) (CH
2
O) n

(D) (C
2
H

2
O) n COOH

9. Which of the following is the smallest

carbohydrate-triose ?

(A) Ribose

(B) Glucose

(C) Glyceraldehyde

(D) Dihydroxyacetone

10. Which of the following is the simplest form

of carbohydrates ?

(A) Carboxyl groups
(B) Aldehyde and Ketone groups

(C) Alcohol and Carboxyl groups

(D) Hydroxyl groups and Hydrogen

groups

6. ckWMh ekl baMsDl ¼ch,evkbZ½ okys O;fDr dks

fdl Js.kh esa vf/kd otu ds :i esa oxhZÑr

fd;k tkrk gS \

(A) 15-19.9

(B) 30-35.9

(C) 25.29.9

(D) 20-24.9

7. ,d O;fDr ftldk 'kjhj dk otu vuq'kaflr

Lrj ls 20% ls vf/kd gS] dks oxhZÑr fd;k

x;k gS %

(A) eksVk

(B) FkksM+k eksVk

(C) vf/kd otu

(D) vLoLFk eksVkik

8. fuEufyf[kr esa ls dkSu&lk dkcksZgkbMªsV dk

lkekU; lw= gS \

(A) (C
4
H

2
O) n

(B) (C
6
H

2
O) n

(C) (CH
2
O) n

(D) (C
2
H

2
O) n COOH

9. fuEufyf[kr esa ls dkSu&lk lcls NksVk

dkcksZgkbMªsV&Vªk;kst+ gS \

(A) jkbckst

(B) Xywdkst

(C) fXyljkfYMgkbM

(D) Mk;gkbMªksDlh,lhVksu

10. fuEufyf[kr esa ls dkSu&lk dkcksZgkbMªsV dk
lcls ljy :i gS \
(A) dkcksZfDly lewg
(B) ,fYMgkbM vkSj dsVksu lewg
(C) 'kjkc vkSj dkcksZfDly lewg

(D) gkbMªksDlkby lewg vkSj gkbMªkstu lewg
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11. Saturated fats are a type of fat wherein the

fatty acids possess :

(A) coordinate covalent bonds

(B) triple bonds

(C) double bonds

(D) single bonds

12. Which of these is not a lipid ?

(A) Fats

(B) Oils

(C) Proteins

(D) Waxes

13. This is an example of derived lipids :

(A) Terpenes

(B) Steroids

(C) Carotenoids

(D) All of the above

14. Which of the following is a non-essential

amino acid ?

(A) Threonine

(B) Glutamine

(C) Phenylalanine

(D) Valine

15. Which of the following is a neutral amino

acid ?

(A) Glycine

(B) Lysine

(C) Arginine

(D) Histidine

11. larÌr olk olk dk ,d çdkj gS ftlesa QSVh
,flM gksrk gS %

(A) lgla;kstd ca/ku leUo; djsa

(B) fVªiy ckaM

(C) Mcy ckaM

(D) ,dy ckaM

12. buesa ls dkSu fyfiM ugha gS \

(A) olk

(B) rsy

(C) çksVhu

(D) oSDl

13. ;g O;qRiUu fyfiM dk ,d mnkgj.k gS %

(A) Vsjisul

(B) LVsjkW;M

(C) dSjksVhukW;M

(D) mijksDr lHkh

14. fuEufyf[kr esa ls dkSu ,d xSj&vko';d
vehuks ,flM gS \

(A) Fkzsvksuhu

(B) XywVkekbu

(C) Qsfuy,yfuu

(D) osfyu

15. fuEufyf[kr esa ls dkSu&lk ,d rVLFk vehuks
,flM gS \

(A) Xykbflu

(B) ykbflu

(C) vkftZfuu

(D) fgfLVMhu

[P.T.O]
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16. The maximum recommended weight loss

per week is :

(A) 1-2 pounds

(B) 4-7 pounds

(C) 3-5 pounds

(D) 7-10 pounds

17. In order to lose one pound of body fat per

week, an individual must have a negative

daily energy balance of :

(A) 1500 calories

(B) 500 calories

(C) 2000 calories

(D) 3500 calories

18. Consuming more calories than you burn

each day results in :

(A) weight loss

(B) a positive caloric balance

(C) a recommended diet plan

(D) a negative caloric balance

19. Obesity is responsible for which of the

following diseases ?

(A) type 2 diabetes

(B) heart disease

(C) colon cancer

(D) all of the above

20. Individuals are at higher risk for coronary

heart disease if they carry excess weight in

the :

(A) buttocks

(B) hips

(C) abdominal area

(D) thigh

16. çfr lIrkg vf/kdre vuq'kaflr otu ?kVkus

gaS %

(A) 1-2 ikmaM

(B) 4-7 ikmaM

(C) 3-5 ikmaM

(D) 7-10 ikmaM

17. çfr lIrkg ,d ikmaM 'kjhj dh pchZ de

djus ds fy,] ,d O;fDr ds ikl ,d

udkjkRed nSfud ÅtkZ larqyu gksuk pkfg, %

(A) 1500 dSyksjh

(B) 500 dSyksjh

(C) 2000 dSyksjh

(D) 3500 dSyksjh

18. vki çfrfnu ftruh dSyksjh cuZ djrs gSas
mlls vf/kd dSyksjh dk lsou djus dk
ifj.kke gksrk gS %
(A) otu ?kVuk
(B) ,d ldkjkRed dSyksjh larqyu
(C) vuq'kaflr vkgkj ;kstuk
(D) ,d udkjkRed dSyksjh larqyu

19. eksVkik fuEufyf[kr esa ls fdl jksx ds fy,
ftEesnkj gS \
(A) e/kqesg çdkj 2

(B) fny dh chekjh
(C) isV dk dSalj
(D) mijksDr lHkh

20. O;fDr;ksa dks dksjksujh ân; jksx ds fy,
vf/kd tksf[ke gksrk gS ;fn os vf/kd otu
ysrs gSa %
(A) furac
(B) furac
(C) mnj {ks=
(D) tka?k
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21. Vitamins and mineral are :

(A) Body building

(B) Energy giving food

(C) Protective food

(D) None of these

22. Vegetable ghee is manufactured by the

process of :

(A) reduction polymerization

(B) Oxidation polymerization

(C) hydrogenation

(D) saponification

23. This is an example of fat :

(A) Groundnut oil

(B) Coconut oil

(C) Vegetable ghee

(D) Glyceryl trioleate

24. This is the function of dietary fat :

(A) signals cells

(B) forms part of cellular membranes

(C) provides energy to the body

(D) all of these

25. Pick the incorrect statement :

(A) Examples of oils are coconut oil,

glyceryl trioleate, olive oil, etc.

(B) at room temperature, oils are

liquids

(C) oils have lower melting points

(D) oils are saturated triglyceride

26. Most animal fats are :

(A) globular form

(B) linear

(C) saturated

(D) unsaturated

21. foVkfeu vkSj [kfut gSa %

(A) ckWMh fcfYMax

(B) ÅtkZ nsus okyk Hkkstu

(C) lqj{kkRed Hkkstu

(D) buesa ls dksbZ ugha

22. ouLifr ?kh fdldh çfØ;k }kjk fufeZr gksrk

gS \

(A) iksyhejkbts'ku esa deh

(B) vkWDlhdj.k iksyksejkbts'ku

(C) gkbMªkstuhdj.k

(D) lkcquhdj.k

23. ;g olk dk mnkgj.k gSA
(A) ewaxQyh dk rsy
(B) ukfj;y dk rsy
(C) ouLifr ?kh
(D) fXyljkWy Vªk;ksysV

24. ;g vkgkj olk dk dk;Z gS %
(A) flXuy lsy
(B) lsyqyj f>Yyh dk fgLlk cukrk gS
(C) 'kjhj dks ÅtkZ çnku djrk gS
(D) ;s lHkh

25. xyr dFku pqfu, %
(A) rsyksa ds mnkgj.k gSa ukfj;y dk rsy]

fXyljkWy Vªk;ksysV] tSrwu dk rsy]
vkfn

(B) dejs ds rkieku ij] rsy rjy gksrs
gSa

(C) rsyksa dk xyukad de gksrk gS
(D) rsy lar`Ir VªkbfXyljkbM gSa

26. vf/kdka'k i'kq olk gSa %

(A) xksykdkj :i

(B) jSf[kd

(C) lar̀Ir

(D) vlarÌr
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27. Proteins are polymers of :

(A)  - amino acids

(B) β - amino acids

(C) γ - amino acids

(D) δ - amino acids

28. Proteins are :

(A) dipeptides

(B) tripeptides

(C) tatrapeptides

(D) polypeptides

29. Which of the following is soluble in water ?

(A) Insulin

(B) Elastin

(C) Fibroin

(D) Collagen

30. Proteins are formed primarily from  ———

—— bonds.

(A) glycosidic

(B) peptide

(C) phosphodiester

(D) disulphide

31. Which of the following statements is true

about proteins ?

(A) Proteins are made up of amino

acids

(B) Proteins are essential for the

development of skin, teeth and

bones

(C) Protein is the only nutrient that can

build, repair and maintain body

tissues

(D) All of the above

27. çksVhu ds cgqyd gSa %

(A)  - ,feuks ,flM

(B) β  - ,feuks ,flM

(C) γ - ,feuks ,flM

(D) δ - ,feuks ,flM

28. çksVhu gSa %

(A) MkbisIVkbM~l

(B) VªkbisIVkbM~l

(C) VsVªkisIVkbM~l

(D) ikWyhisIVkbM~l
29. fuEufyf[kr esa ls dkSu ikuh esa ?kqyu'khy

gS \
(A) balqfyu

(B) bykfLVu

(C) Qkbczksbu

(D) dksystu

30. çksVhu eq[; :i ls ------- ckaM ls curs gSaA

(A) XykbdksflfMd

(B) isIVkbM

(C) QkWLQksMkbLVj

(D) MkblYQ+kbM

31. fuEufyf[kr esa ls dkSu&lk dFku çksVhu ds

ckjs esa lR; gS \

(A) çksVhu vehuks ,flM ls cus gksrs gSa

(B) çksVhu Ropk] nkarksa vkSj gfM~M;ksa ds

fodkl ds fy, vko';d gSa

(C) çksVhu ,dek= iks"kd rRo gSaa tks

'kjhj ds Årdksa dk fuekZ.k] ejEer

vkSj j[kj[kko dj ldrk gS

(D) mijksDr lHkh



1117-B/260 (  9  )

32. Write down full form of BMI :

(A) Bad mass index

(B) Body mass index

(C) Body mass intake

(D) All of the above

33. Write down full form of BMR :

(A) Basal metabolic return

(B) Body metabolic rate

(C) Basal metabolic rate

(D) All of the above

34. Where does body image come from ?

(A) Your family

(B) Your friends

(C) Media

(D) All of the above

35. A person’s ratio of fat to lean muscle is known

as :

(A) body composition

(B) muscle mass

(C) body mass index

(D) percent body fat

36. The rate at which your body must consume

energy to sustain basic functions is the :

(A) resting metabolic rate

(B) basal metabolic rate

(C) body mass index

(D) All of the above

32. BMI dk iw.kZ :i fyf[k, %

(A) [kjkc ekl baMsDl

(B) ckWMh ekl baMsDl

(C) ckWMh ekl baVsd

(D) mijksDr lHkh

33. BMR dk iw.kZ :i fyf[k, %

(A) csly esVkcksfyd fjVuZ

(B) 'kkjhfjd p;kip; nj

(C) cqfu;knh p;kip; nj

(D) mijksDr lHkh

34. 'kjhj dh Nfo dgk¡ ls vkrh gS \

(A) rqEgkjk ifjokj

(B) vkids fe=

(C) ehfM;k

(D) mijksDr lHkh

35. ,d O;fDr dh olk vkSj nqcyh ekalisf'k;ksa ds

vuqikr dks ds :i esa tkuk tkrk gS %

(A) 'kjhj dh lajpuk

(B) ekalisf'k;ksa

(C) ckWMh ekl baMsDl

(D) çfr'kr 'kjhj esa olk

36. cqfu;knh dk;ksZa dks cuk, j[kus ds fy, vkids

'kjhj dks ftl nj ij ÅtkZ dk miHkksx djuk

pkfg, og gS %

(A) fuf"Ø; fLFkfr esa p;kip;h nj

(B) cqfu;knh p;kip; nj

(C) ckWMh ekl baMsDl

(D) mijksDr lHkh

[P.T.O]
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37. Write down formula of water :

(A) H
2
O

(B) S
2
O

(C) All of the above

(D) None of these

38. The percentage of water in the human body

is :

(A) 65

(B) 70

(C) 40

(D) 80

39. Foods like pizza, burger and noodles are

rich in :

(A) carbohydrates

(B) proteins

(C) vitamins

(D) minerals

40. How many essential nutrients are there ?

(A) 02

(B) 04

(C) 06

(D) All of the above

41. The disease caused by the deficiency of

iodine is :

(A) anemia

(B) goitre

(C) chicken pox

(D) swine flu

37. ty dk lw= fyf[k, %

(A) H
2
O

(B) S
2
O

(C) mijksDr lHkh

(D) buesa ls dksbZ ugha

38. ekuo 'kjhj esa ikuh dk çfr'kr gS %

(A) 65

(B) 70

(C) 40

(D) 80

39. fiTtk] cxZj vkSj uwMYl tSls [kk| inkFkZ

Hkjiwj ek=k esa gksrs gSa %

(A) dkcksZgkbMªsV

(B) çksVhu

(C) foVkfeu

(D) [kfut inkFkZ

40. fdrus vko';d iks"kd rRo gSa \

(A) 02

(B) 04

(C) 06

(D) mijksDr lHkh

41. vk;ksMhu dh deh ls gksus okyk jksx gS %

(A) [kwu dh deh

(B) x.Mekyk

(C) NksVh ekrk

(D) Lokbu ¶yw
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42. How many amino acids make up a protein?

(A) 10

(B) 20

(C) 30

(D) 50

43. Which of the following is not the function of

proteins?

(A) Helps in digesting food

(B) Carries genetic information

(C) Fights against the invading

pathogens

(D) Helps in transporting oxygen in the

blood

44. What transports copper from the intestinal

cells to the liver ?

(A) Ceruloplasmin

(B) Secretin

(C) Acrolein

(D) Albumin

45. The mineral which aids in the utilization of

iron and in haemoglobin synthesis is :

(A) Calcium

(B) Phosphorus

(C) Cobalt

(D) Copper

42. fdrus vehuks ,flM ,d çksVhu cukrs gSa \

(A) 10

(B) 20

(C) 30

(D) 50

43. fuEufyf[kr esa ls dkSu çksVhu dk dk;Z ugha

gS \

(A) Hkkstu ipkus esa enn djrk gS

(B) vkuqoaf'kd tkudkjh ogu djrk gS

(C) geykoj jksxtudksa ds f[kykQ yM+rk

gS

(D) jDr esa vkWDlhtu ds ifjogu esa

enn djrk gS

44. vk¡rksa dh dksf'kdkvksa ls rk¡ck dks ;Ñr rd

dkSu igq¡pkrk gS \

(A) ls#yksIykfLeu

(B) lhØsfVu

(C) ,Øksfyu

(D) ,Ycqfeu

45. og [kfut tks yksgs ds mi;ksx esa vkSj

gheksXyksfcu ds la'ys"k.k esa lgk;rk djrk

gS %

(A) dSfY'k;e

(B) QkLQksjl

(C) dksckYV

(D) rk¡ck

[P.T.O]



1117-B/260 (  12  )

46. High protein diets are :

(A) Recommended by most certified

nutritionists

(B) Recommended for quick weight

loss

(C) Successful at improving aerobic

training

(D) Usually unsuccessful in the long run

47. Anorexia nervosa is characterized by :

(A) A refusal to eat

(B) high fat intake following by heavy

physical

(C) Its relation to a specific physical

disease

(D) eating a great deal of food in one

sitting followed by vomiting

48. Bulimia is like anorexia nervosa in what

way ?

(A) Both require professional treatment

when diagnosed

(B) Both are easily recognized by

observing an individual’s body

(C) Both use self-induced vomiting and

diuretics

(D) All of the above

49. To gain adequate muscle mass :

(A) include a high protein supplement

in your diet
(B) make sure you include high-fat

foods so that you have enough total

calories per day
(C) limit your positive caloric balance

to about 90 extra calories per day

(D) include a muscle growth hormone

supplement along with an adequate

weight training program

46. mPp çksVhu vkgkj gSa %

(A) vf/kdka'k çekf.kr iks"k.k fo'ks"kKksa
}kjk vuq'kaflr

(B) Rofjr otu ?kVkus ds fy, vuq'kaflr

(C) ,jksfcd çf'k{k.k esa lq/kkj djus esa
lQy

(D) vkerkSj ij yacs le; esa vlQy
47. ,uksjsfDl;k uoksZlk dh fo'ks"krk gS %

(A) [kkus ls badkj
(B) Hkkjh 'kkjhfjd Je ds ckn mPp olk

dk lsou
(C) ,d fof'k"V 'kkjhfjd jksx ls bldk

lEcU/k
(D) ,d cSBd esa cgqr vf/kd Hkkstu

djuk vkSj mlds ckn mYVh gksuk
48. cqfyfe;k fdl rjg ls ,uksjsfDl;k uoksZlk dh

rjg gS \
(A) funku gksus ij nksuksa dks is'ksoj mipkj

dh vko';drk gksrh gS
(B) fdlh O;fDr ds 'kjhj dks ns[kdj

nksuksa dks vklkuh ls igpkuk tk
ldrk gS

(C) nksuksa Lo&çsfjr mYVh vkSj ew=o/kZd
dk mi;ksx djrs gSa

(D) mijksDr lHkh
49. i;kZIr ekalis'kh æO;eku çkIr djus ds

fy, %
(A) vius vkgkj esa ,d mPp çksVhu

iwjd 'kkfey djsa
(B) lqfuf'pr djsa fd vki mPp olk

okys [kk| inkFkksZa dks 'kkfey djrs gSa
rkfd vkids ikl çfrfnu i;kZIr
dqy dSyksjh gkss

(C) vius ldkjkRed dSyksjh larqyu dks
çfr fnu yxHkx 90 vfrfjDr dSyksjh
rd lhfer djsa

(D) i;kZIr otu çf'k{k.k dk;ZØe ds
lkFk ,d ekalis'kh of̀) gkeksZu iwjd
'kkfey djsa
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50. Which of the following mineral is involved in

protein metabolism and oxidation

reactions ?

(A) Molybdenum

(B) Manganese

(C) Magnesium

(D) Calcium

51. Which of the following is not a function of

iron ?

(A) Oxygen transport

(B) Immune function

(C) Brain function

(D) Gene regulation

52. What does vitamin K deficiency lead to ?

(A) Problem in blood coagulation

(B) Problem in digestion

(C) Problem in calcium metabolism

(D) All of these

53. Which of the following diseases is

associated with vitamin C deficiency ?

(A) Scurvy

(B) Psoriasis

(C) Pellagra

(D) Vitiligo

54. What does niacin deficiency cause ?

(A) Pellagra

(B) Scurvy

(C) Acne

(D) Boils

50. fuEufyf[kr esa ls dkSu&lk [kfut çksVhu

p;kip; vkSj vkWDlhdj.k çfrfØ;kvksa esa

'kkfey gS \

(A) eksfyCMsue

(B) eSaxuht

(C) eSxuhf'k;e

(D) dSfY'k;e

51. fuEufyf[kr esa ls dkSu yksgs dk dk;Z ugha
gS \

(A) vkWDlhtu ifjogu

(B) çfrj{kk dk;Z

(C) efLr"d dk dk;Z

(D) thu fofu;eu

52. foVkfeu K dh deh ls D;k gksrk gS \

(A) jDr ds FkDds teus esa leL;k

(B) ikpu esa leL;k

(C) dSfY'k;e p;kip; esa leL;k

(D) mi;qZDr esa ls lHkh

53. fuEufyf[kr esa ls dkSu&lk jksx foVkfeu lh
dh deh ls lEcfU/kr gS \

(A) ikth

(B) lksjk;fll

(C) ,d jksx ftl esa peM+k QV tkrk gS

(D) lQsn nkx

54. fu;kflu dh deh ls D;k gksrk gS \

(A) ,d jksx ftlesa peM+k QV tkrk gS

(B) ikth

(C) eqagklk

(D) QksM+s

[P.T.O]
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55. Spinach, soyabean and pig liver are good

sources of which vitamin ?

(A) Vitamin K

(B) Vitamin A

(C) Vitamin B

(D) Vitamin C

56. What happens due to deficiency of Vitamin

K ?

(A) The color of the blood turns yellow

(B) Increased blood sugar

(C) Fat

(D) It takes time for blood to clot

57. Nitrogen is found in only one nutrient :

(A) Fat

(B) Protein

(C) Vitamins

(D) Sugar

58. Which is the ‘Full Food’ for the human

body ?

(A) Protein and meat

(B) Fats and Carbohydrates

(C) Fruit

(D) Fortified food

59. What is Mono Saccharides ?

(A) Fat

(B) Carbohydrates

(C) Protein

(D) Calcium

55. ikyd] lks;kchu rFkk lqvj dk ;Ñr fdl
foVkfeu ds vPNs lzksr gaS \

(A) foVkfeu K

(B) foVkfeu A

(C) foVkfeu B

(D) foVkfeu C

56. foVkfeu K dh deh ls D;k gksrk gS \

(A) jDr dk jax ihyk gks tkrk gS

(B) jDr esa 'kdZjk dh ek=k c<+uk

(C) olk

(D) jDr teus esa le; yxrk gS

57. ukbVªkstu dsoy ,d iks"kd esa ik;k tkrk gS %

(A) olk

(B) çksVhu

(C) foVkfeu

(D) 'kdZjk

58. ekuo 'kjhj ds fy,  ‘Full Food’ dkSu&lk
gksrk gS \

(A) çksVhu o ek¡l

(B) olk rFkk dkcksZgkbMªsV~l

(C) Qy

(D) foVkfeu;qDr Hkkstu

59. eksuks lsdjkbMl gS %

(A) olk

(B) dkcksZgkbMªsV~l

(C) çksVhu

(D) dSfY'k;e
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60. What percent of individuals who lose weight

on a diet plan maintain their weight loss for

five years after completion ?

(A) 20

(B) 80

(C) 50

(D) 5

61. Optimal body fat for health and fitness for

men is :

(A) 20-30%

(B) 10-20%

(C) 5-10%

(D) 30-40%

62. A female is considered obese if she has

over what percent of body fat ?

(A) 15

(B) 30

(C) 20

(D) 10

63. If energy expenditure exceeds energy

intake :

(A) fat stores are increased

(B) Body weight increases

(C) Metabolism decreases

(D) Fat stores are decreased

64. A healthy weight loss program should

emphasize all of the following EXCEPT :

(A) High-protein, low-carbohydrate diet

(B) Reduced-calorie diet that is high in

complex carbohydrates and low in

fat

(C) An exercise program

(D) Behaviour modification aimed at

changing bad eating habits

60. vkgkj ;kstuk ij otu de djus okys O;fDr;ksa
esa ls fdrus çfr'kr iwjk gksus ds ckn ik¡p
lky rd viuk otu de djrs gSa \
(A) 20

(B) 80

(C) 50

(D) 5

61. iq#"kksa ds fy, LokLF; vkSj fQVusl ds fy,
b"Vre 'kjhj esa olk gS %
(A) 20-30%

(B) 10-20%

(C) 5-10%

(D) 30-40%

62. ,d efgyk dks eksVk ekuk tkrk gS ;fn mlds
'kjhj esa olk fdrus çfr'kr ls vf/kd gS \
(A) 15

(B) 30

(C) 20

(D) 10

63. ;fn ÅtkZ O;; ÅtkZ lsou ls vf/kd gS %

(A) olk HkaMkj c<+ jgs gSa

(B) 'kjhj dk otu c<+ tkrk gS

(C) p;kip; de gks tkrk gS

(D) olk HkaMkj de gks tkrs gSa

64. LoLFk otu ?kVkus ds dk;ZØe esa fuEufyf[kr

dks NksM+dj lHkh ij tksj fn;k tkuk pkfg,A

(A) mPp çksVhu] de dkcksZgkbMªsV vkgkj

(B) de dSyksjh okyk vkgkj tks tfVy

dkcksZgkbMªsV esa mPp vkSj olk esa de

gks

(C) ,d O;k;ke dk;ZØe

(D) [kkus dh [kjkc vknrksa dks cnyus ds

mís'; ls O;ogkj

[P.T.O]
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65. The percentage of water in the average adult

human body is :

(A) 80 %

(B) 60 %

(C) 40 %

(D) 90 %

66. The type of hepatitis which caused after

blood transfusion :

(A) Hepatitis-A

(B) Hepatitis-B

(C) Hepatitis-C

(D) Hepatitis-D

67. Which of the following is an example of the

best source of energy for endurance

athletes ?

(A) Pasta

(B) Steak

(C) Cheese

(D) Eggs

68. The most common form of simple sugar is :

(A) Maltose

(B) Sucrose

(C) Glucose

(D) None of these

69. Starches are stored in muscles and the liver

in the form of :

(A) Glucagon

(B) Galactose

(C) Glucose

(D) Glycogen

65. vkSlr o;Ld ekuo 'kjhj esa ikuh dk çfr'kr

gS %

(A) 80%

(B) 60%

(C) 40%

(D) 90%

66. gsisVkbfVl dk çdkj tks jDr vk/kku ds ckn

gksrk gSA

(A) gsisVkbfVl ,

(B) gsisVkbfVl ch

(C) gsisVkbfVl lh

(D) gsisVkbfVl Mh

67. fuEufyf[kr esa ls dkSu /khjt ,FkyhVksa ds fy,
ÅtkZ ds loZJs"B lzksr dk mnkgj.k gS \

(A) ikLrk

(B) ek¡l dk dckc

(C) iuhj

(D) vaMs

68. lk/kkj.k phuh dk lcls lkekU; :i gS %

(A) ekYVksl

(B) lqØkst

(C) Xywdkst

(D) buesa ls dksbZ ugha

69. LVkpZ ekalisf'k;ksa vkSj ;Ñr esa ds :i esa tek
gksrs gaS %

(A) Xywdkxu

(B) xSysDVkst

(C) Xywdkst

(D) Xykbdkstu
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70. What is the best source of carbohydrates ?

(A) Wheat

(B) Fruit

(C) Milk

(D) Meat

71. Best source of fat :

(A) Milk

(B) Butter

(C) Cereal

(D) Fruit

72. Which is the best source of protein ?

(A) Milk

(B) Soyabean

(C) Meat

(D) Pomegranate

73. Excellent source of starch :

(A) Wheat

(B) Rice

(C) Maize

(D) A kind of cheese

74. Fish oil, milk and dairy products are good

sources :

(A) Vitamin B

(B) Vitamin D

(C) Vitamin K

(D) Vitamin A

75. How much calcium is there in a normal

person ?

(A) 30-35 grams

(B) 20-25 grams

(C) 16-17 grams

(D) 40-45 grams

70. dkcksZgkbMªsV~l dk mÙke lzksr gS %
(A) xsgw¡
(B) Qy
(C) nw/k

(D) ekal

71. olk dk mÙke lzksr gS %

(A) nw/k

(B) eD[ku

(C) vukt

(D) Qy
72. çksVhu dk mÙke lzksr gS %

(A) nw/k
(B) lks;kchu
(C) ekal
(D) vukj

73. LVkpZ (Starch) dk mÙke lzksr gS %
(A) xsgw¡
(B) pkoy
(C) eDdk
(D) iuhj

74. eNyh dk rsy] nw/k rFkk Ms;jh mRiknu mÙke
lzksr gaS %
(A) foVkfeu ch
(B) foVkfeu Mh
(C) foVkfeu ds
(D) foVkfeu ,

75. ,d lkekU; O;fDr esa fdruk dSfY'k;e gksrk
gS \

(A) 30-35 xzk-

(B) 20-25 xzk-

(C) 16-17 xzk-

(D) 40-45 xzk-

[P.T.O]
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76. High level of this type of cholesterol appear

to reduce the risk of atherosclerosis.

(A) LDL

(B) HDL

(C) VLDL

(D) ADL

77. Monosaturated fats are the “preferred fats”

of the 2000’s because they appear to :

(A) Lower LDL levels but not HDL

levels.

(B) Lower HDL levels but not LDL levels

(C) Taste better than polyunsaturated

fats

(D) Have lower calorie content than

saturated fats

78. Which of the following is true about

vitamins ?

(A) Vitamin E is water soluble

(B) Vitamin C and the B vitamins are

easily dissolved in water

(C) Many Americans suffer from vitamin

deficiencies

(D) Environmental conditions do not

affect the vitamins in food

79. Iron deficiency is the more commonly

known name ?

(A) anemia

(B) ketonuria

(C) iron deficit syndrome

(D) low ferrous index

76. bl çdkj ds dksysLVªkWy dk mPp Lrj
,FksjksLDysjksfll ds tksf[ke dks de djrk
çrhr gksrk gS %
(A) ,yMh,y
(B) ,pMh,y
(C) oh,yMh,y
(D) ,Mh,y

77. eksukslSpqjsVsM olk 2000 ds ßilanhnk olkÞ gSa
D;ksafd os fn[kkbZ nsrs gSa %
(A) de ,yMh,y Lrj ysfdu ,pMh,y

Lrj ugha

(B) de ,pMh,y Lrj ysfdu ,yMh,y

Lrj ugha

(C) ikWyhvulspqjsVsM olk ls csgrj Lokn

ysa

(D) larÌr olk dh rqyuk esa de dSyksjh

lkexzh gksrh gS

78. foVkfeu ds ckjs esa fuEufyf[kr esa ls dkSu&lk

lR; gS \

(A) foVkfeu bZ ikuh esa ?kqyu'khy gS

(B) foVkfeu lh vkSj ch foVkfeu ikuh

esa vklkuh ls ?kqy tkrs gSa

(C) dbZ vesfjdh foVkfeu dh deh ls

ihfM+r gSa

(D) i;kZoj.k dh fLFkfr Hkkstu esa foVkfeu

dks çHkkfor ugha djrh gS

79. vk;ju dh deh vf/kd lkekU;r% Kkr uke

gS %

(A) jDrkYirk

(B) dhVksuqjh;

(C) vk;ju MsfQflV flaMªkse

(D) de ykSg lwpdkad
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80. Deficiency of Vitamin B complex causes :

(A) Dermatitis

(B) Pellagra

(C) Rickets

(D) Scurvy

81. Which food has maximum biological value

for proteins ?

(A) Soyabean

(B) Egg

(C) Meat

(D) Fish

82. Lactose is made up of :

(A) Glucose + Fructose

(B) Glucose + Glucose

(C) Glucose + Galactose

(D) Fructose + Fructose

83. The following is not a source of vitamin :

(A) Milk

(B) Amla (Gooseberry)

(C) Lemon

(D) Green chilli

84. Enzyme which helps in digestion of fat :

(A) Amylase

(B) Lipase

(C) Enterokina

(D) Tripsin

85. Osteoporosis is caused by deficiency of :

(A) Vitamin A

(B) Vitamin B

(C) Vitamin C

(D) Vitamin D

80. foVkfeu ch dkWEIysDl dh deh ds dkj.k %
(A) ftYn dh lwtu
(B) ,d jksx ftlesa peM+k QV tkrk gS
(C) lw[kk jksx
(D) ikth

81. çksVhu ds fy, fdl Hkkstu esa vf/kdre
tSfod ewY; gS \
(A) lks;kchu

(B) vaMk

(C) ekal

(D) eNyh

82. ySDVkst cuk gksrk gS %

(A) Xywdkst$ÝqDVkst

(B) Xywdkst$Xywdkst

(C) Xywdkst$xSysDVkst

(D) ÝqDVkst$ÝqDVkst

83. fuEufyf[kr foVkfeu dk lzksr ugha gS %

(A) nw/k

(B) vkaoyk

(C) uhacw

(D) gjh fepZ

84. ,atkbe tks olk ds ikpu esa enn djrk gS %

(A) ,ekbysl

(B) ykbZisl

(C) ,aVjksfduk

(D) fVªfIlu

85. vkWfLV;ksiksjksfll fdldh deh ls gksrk gS \

(A) foVkfeu ,

(B) foVkfeu ch

(C) foVkfeu lh

(D) foVkfeu Mh
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86. Which disease is caused by the deficiency

of Vitamin D ?

(A) Scurvy

(B) Night blindness

(C) Berry

(D) Rickets

87. Rickets disease is caused by the deficiency

of :

(A) Vitamin C

(B) Vitamin K

(C) Vitamin E

(D) Vitamin D

88. Night blindness is caused by which

deficiency ?

(A) Vitamin A

(B) Vitamin K

(C) Vitamin C

(D) Vitamin D

89. The nutrient that combines with proteins to

form hemoglobin :

(A) Iron

(B) Fat

(C) Vitamin A

(D) Manganese

90. The vitamin that binds many cells together :

(A) Vitamin C

(B) Vitamin B

(C) Vitamin K

(D) Vitamin D

86. foVkfeu Mh dh deh ls dkSu&lh chekjh gksrh
gS \

(A) LdohZ

(B) jrkSa/kh

(C) csjh

(D) fjdsV~l

87. fjdsV~l chekjh fdldh deh ls gksrh gS \

(A) foVkfeu lh

(B) foVkfeu ds

(C) foVkfeu b

(D) foVkfeu Mh

88. jrkSa/kh fdl deh ls gksrh gS \

(A) foVkfeu ,

(B) foVkfeu ds

(C) foVkfeu lh

(D) foVkfeu Mh

89. og iks"kd tks çksVhu ds lkFk feydj

gheksXyksfcu cukrk gS %

(A) vk;ju

(B) olk

(C) foVkfeu ,

(D) eSxuht

90. og foVkfeu tks dbZ dksf'kdkvksa dks vkil esa

ck¡/kdj j[krk gS %

(A) foVkfeu lh

(B) foVkfeu ch

(C) foVkfeu ds

(D) foVkfeu Mh
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91. Hepatitis is caused due to :

(A) Infected blood transfusion

(B) Use of contaminated water

(C) Addiction of drug

(D) Dialysis

92. Ascorbic acid is :

(A) Protein

(B) Vitamin

(C) Enzyme

(D) Lipid

93. Anabolism means :

(A) Storage of energy

(B) Breakdown of energy

(C) Mixing of energy in water

(D) Change in energy

94. Antibiotics are used or administered for the

purpose :

(A) To reduce pain

(B) To reduce ederna

(C) To prevent infection

(D) To relieve fever

95. The condition occur due to lack of oxygen

(02) in the body is :

(A) Jaundice

(B) Cyanosis

(C) Dehydration

(D) Hypoxemia

91. gsisVkbfVl fdlds dkj.k gksrk gS \

(A) laØfer jDr vk/kku

(B) nwf"kr ty dk ç;ksx

(C) u'kk

(D) Mk;fyfll

92. ,LdkWfcZd ,flM gS %

(A) çksVhu

(B) foVkfeu

(C) ,utkbe

(D) fyfiM

93. mip; dk vFkZ gS %

(A) ÅtkZ dk HkaMkj.k

(B) ÅtkZ dk VwVuk

(C) ikuh esa ÅtkZ dk feJ.k

(D) ÅtkZ esa ifjorZu

94. bl mís'; ds fy, ,aVhck;ksfVDl dk mi;ksx

;k ç'kkflr fd;k tkrk gS %

(A) nnZ de djus ds fy,

(B) ,MuZ dks de djus ds fy,

(C) laØe.k dks jksdus ds fy,

(D) cq[kkj nwj djus ds fy,

95. 'kjhj esa vkWDlhtu (O2)  dh deh ds dkj.k

gksus okyh fLFkfr gS %

(A) ihfy;k

(B) uhfyek

(C) futZyhdj.k

(D) g;iks{ksfe;k

[P.T.O]
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96. The amount of energy your body uses at

complete rest is called :

(A) resting metabolic rate

(B) hypo kinetic metabolism

(C) baseline rate

(D) basal metabolic rate

97. Which of the following improves the success

rate of maintaining weight loss ?

(A) continued dieting

(B) increased protein

(C) decreased essential fat

(D) exercise

98. Intense fear of gaining weight so suffers

from :

(A) Bulimia nervosa

(B) Anorexia nervosa

(C) Anxiety nervosa

(D) Psychosis nervosa

99. Among the following traits, which plays the

greatest roll in the potential for obesity ?

(A) Heridity

(B) Age

(C) Life style

(D) Gender

100. Refers to an excessive accumulation of

body fat with associated health risks while

refers to a body weight greater than

normal :

(A) Obesity, overweight

(B) Low BMI; high BMI

(C) at weight; fat free weight

(D) Overweight; obesity

96. vkidk 'kjhj iw.kZ foJke ds le; ftruh
ÅtkZ dk mi;ksx djrk gS mls dgk tkrk
gS %
(A) fuf"Ø; fLFkfr esa p;kip;h nj
(B) gkbiks dkbusfVd p;kip;
(C) vk/kkjHkwr nj

(D) cqfu;knh p;kip; nj

97. fuEufyf[kr esa ls dkSu otu ?kVkus dks cuk,

j[kus dh lQyrk nj esa lq/kkj djrk gS \

(A) fujarj ijgst

(B) c<+k gqvk çksVhu

(C) de vko';d olk

(D) O;k;ke

98. otu c<+us dk rhoz Hk; blfy, gksrk gS %

(A) cqfyfe;k uoksZlk

(B) ,uksjsfDl;k uoksZlk

(C) fpark uoksZlk

(D) euksfoÑfr uoksZlk

99. fuEufyf[kr y{k.kksa esa ls dkSu eksVkis dh
laHkkouk esa lcls cM+h Hkwfedk fuHkkrk gS \

(A) vkuqoaf'kdrk

(B) vk;q

(C) thou 'kSyh

(D) fyax
100. lEcfU/kr LokLF; tksf[keksa ds lkFk 'kjhj esa

olk ds vR;f/kd lap; dks lanfHkZr djrk gS
tcfd lkekU; ls vf/kd 'kjhj ds otu dks
lanfHkZr djrk gS %
(A) eksVkik] vf/kd otu
(B) de ch,evkbZ] mPp otu
(C) otu ij] olk jfgr otu
(D) vf/kd otu] eksVkik
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ROUGH WORK/jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA
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